
Die	
  faszinierende	
  Welt	
  der	
  Bienen	
  –	
  viel	
  Spaß	
  dabei!!!	
  
	
  
Station	
  2/3:	
  Bearbeite	
  den	
  Lückentext	
  
	
  
Die	
  Königin	
  legt	
  in	
  ________________________	
  täglich	
  bis	
  zu	
  __________________	
  Eier.	
  
In	
  den	
  anderen	
  Monaten	
  werden	
  weniger	
  Eier	
  gelegt-­‐	
  immer	
  so	
  viele	
  wie	
  ein	
  
Volk	
  für	
  seine	
  Arbeit	
  und	
  zum	
  Überwintern	
  benötigt.	
  
	
  
In	
  der	
  __________________	
  schlagen	
  die	
  Flügel	
  bis	
  zu	
  ______________	
  .	
  Dabei	
  erreicht	
  eine	
  
Biene	
  die	
  Geschwindigkeit	
  von	
  circa	
  30	
  km/h.	
  
	
  
Ein	
  Kilo	
  __________________	
  besteht	
  aus	
  _____________________	
  Wachsplättchen,	
  die	
  
eine	
  Arbeiterin	
  mit	
  speziellen	
  Wachsdrüsen	
  am	
  Körper	
  ausschwitzt	
  –	
  das	
  
reinste	
  Wachs	
  was	
  es	
  überhaupt	
  gibt!	
  
	
  
Eine	
  	
  ________________________________	
  bietet	
  Lebensraum	
  für	
  viele	
  Tiere	
  und	
  	
  
	
  
___________________.	
  Außerdem	
  	
  liefert	
  sie	
  noch	
  Grünfutter	
  und	
  _____________	
  .	
  
Stellt	
  man	
  ein	
  Bienenvolk	
  direkt	
  zwischen	
  den	
  Bäumen	
  auf,	
  so	
  erhöht	
  sich	
  
der	
  Ertrag	
  an	
  Früchten	
  deutlich	
  –	
  kurze	
  Wege	
  (auch	
  bei	
  unter	
  12	
  Grad	
  Celsius	
  
erhöhen	
  die	
  Bestäubungsleistung).	
  
	
  
	
  
Station	
  4:	
  Richtig	
  oder	
  Falsch?	
  
	
  
Bienen	
  sammeln	
  Blütenstaub	
  als	
  Futter	
  für	
  ihre	
  Arbeiterinnen.	
   R	
   F	
  
	
  
Beim	
  Besuch	
  der	
  Blüte	
  bleibt	
  Nektar	
  im	
  Haarkleid	
  hängen.	
   	
   R	
   F	
  
	
  
Es	
  müssen	
  immer	
  die	
  Blüten	
  einer	
  Obstsorte	
  besucht	
  werden	
  
um	
  Äpfel,	
  Birnen,	
  ...	
  zu	
  erhalten.	
   	
   	
   	
   	
   	
   R	
   F	
  
	
  
	
  
Station	
  5:	
  Welche	
  Tiere	
  finden	
  sich	
  auf	
  einer	
  Blumenwiese?	
  
	
  
_______________________________________________________________________________________	
  
	
  
_______________________________________________________________________________________	
  
	
  
	
  
Station	
  6:	
  	
  
	
  
Wo	
  befinden	
  sich	
  die	
  sechs	
  Bienen	
  auf	
  dem	
  Vereinsgelände?	
  
	
  
	
  



Welche	
  Materialien	
  benötigen	
  Wildbienen	
  zum	
  nisten?	
  
	
  
_______________________________________________________________________________________	
  
	
  
Warum	
  gibt	
  es	
  unterschiedlich	
  große	
  Löcher	
  im	
  Holz	
  als	
  Nisthilfe?	
  
	
  
_______________________________________________________________________________________	
  
	
  
Bei	
  wie	
  vielen	
  Völkern	
  herrscht	
  am	
  Eingang	
  Flugverkehr?	
  
	
  
	
  ______________________________________________________________________________________	
  
	
  
Warum	
  sammeln	
  Bienen	
  Nektar	
  und	
  verarbeiten	
  ihn	
  zu	
  Honig?	
  
	
  
_______________________________________________________________________________________	
  
	
  
Welche	
  Bedeutung	
  haben	
  die	
  Antennen	
  am	
  Kopf?	
  
	
  
_______________________________________________________________________________________	
  
	
  
Welche	
  Vorteile	
  hat	
  eine	
  Natursteinmauer?	
  
	
  
_______________________________________________________________________________________	
  
	
  
_______________________________________________________________________________________	
  
	
  
Nenne	
  ein	
  anderes	
  Wort	
  für:	
  
	
  
Facettenauge:	
   	
   	
   Drohn:	
   	
   	
   Blütenstaub:	
  
	
  
	
  
	
  
Station	
  7:	
  Welches	
  Tier	
  bist	
  Du	
  an	
  der	
  Fotowand?	
  
	
  
Nenne	
  drei	
  Merkmale	
  dieses	
  Tieres:	
  _________________________________________________	
  
	
  
	
  
	
  
	
  
Station	
  8:	
  Ja	
  oder	
  Nein?	
  
	
  
Wildbienen	
  und	
  Hummeln	
  haben	
  einen	
  Stachel.	
   	
   	
   	
   ja	
   nein	
  
	
  
Hummeln	
  sind	
  Solitärbienen.	
   	
   	
   	
   	
   	
   	
   ja	
   nein	
  
	
  



Wildbienen	
  sind	
  sehr	
  wichtig	
  bei	
  der	
  Bestäubung	
  von	
  Obst	
  
und	
  Wildpflanzen.	
  	
   	
   	
   	
   	
   	
   	
   	
   ja	
   nein	
  
	
  
Hummeln	
  nisten	
  in	
  Erdlöchern,	
  Vogel-­‐	
  und	
  Mäusenestern	
  und	
  
Mauern.	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   ja	
   nein	
  
	
  
Eine	
  Wildbiene	
  legt	
  in	
  ihrem	
  Leben	
  40-­‐50	
  Eier.	
   	
   	
   	
   ja	
  	
   nein	
  
	
  
Sie	
  wird	
  circa	
  4-­‐6	
  Wochen	
  alt.	
  	
   	
   	
   	
   	
   	
   ja	
   nein	
  
	
  
Warum	
  bauen	
  Honigbienen	
  sechseckige	
  Waben?	
  
	
  
______________________________________________________________________________________________	
  
	
  
Nenne	
  fünf	
  weitere	
  Pflanzenbestäuber:	
  _________________________________________________	
  
	
  
______________________________________________________________________________________________	
  
	
  
Was	
  ist	
  ein	
  Bienenbart?	
  __________________________________________________________________	
  
	
  
Nenne	
  zehn	
  wertvolle	
  Pflanzen	
  für	
  Insekten	
  bei	
  denen	
  sie	
  Nahrung	
  finden:	
  
	
  
______________________________________________________________________________________________	
  
	
  
______________________________________________________________________________________________	
  
	
  
	
  
Station	
  10:	
  
	
  
Welche	
  Aufgaben	
  erfüllt	
  eine	
  Hecke?	
  	
   Wer	
  wohnt	
  in	
  einer	
  Hecke?	
  
(6	
  Beispiele)	
   	
   	
   	
   	
   (10	
  Beispiele)	
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Station	
  11:	
  
	
  
Welche	
  fünf	
  Memorykärtchen	
  haben	
  Dir	
  besonders	
  gut	
  gefallen?	
  
	
  
______________________________________________________________________________________________	
  
	
  
	
  
	
  
Station	
  12:	
  Verbinde	
  die	
  richtigen	
  Satzteile	
  miteinander	
  
	
  
Honigtau	
  (Zuckersaft	
  von	
  Läusen)	
   	
   	
   	
   Blütenhonig.	
  
	
  
Die	
  Honigbiene	
  gibt	
   	
   	
   	
   	
   	
   wird	
  zu	
  Waldhonig.	
  
	
  	
  
Im	
  Sommer	
  wird	
  sie	
   	
   	
   	
   	
   	
   durch	
  schwärmen.	
  
	
  
Neue	
  Völker	
  bilden	
  sich	
   	
   	
   	
   	
   	
   6-­‐7	
  Monate.	
  
	
  
Die	
  Königin	
  wird	
   	
   	
   	
   	
   	
   	
   in	
  einer	
  Kugel/Traube.	
  
	
  
Eine	
  Winterbiene	
  lebt	
   	
   	
   	
   	
   	
   4-­‐6	
  Wochen	
  alt.	
  
	
  
Ein	
  Bienenvolk	
  überlebt	
  den	
  Winter	
   	
   	
   	
   es	
  weltweit.	
  
	
  
Blütennektar	
  ergibt	
   	
   	
   	
   	
   	
   3-­‐4	
  Jahre.	
   	
   	
  
	
  
	
  
Extra:	
  Internetrecherche	
  
	
  
Wie	
  viel	
  Pollen	
  benötigt	
  ein	
  Volk	
  für	
  sein	
  Überleben	
  jedes	
  Jahr?	
  
	
  
	
  
Was	
  bedeutet	
  das	
  Wort	
  „blütenstet“?	
  
	
  
	
  
Was	
  ist	
  eine	
  Klotzbeute?	
  
	
  
	
  
Warum	
  „räuchert“	
  ein	
  Imker	
  beim	
  Öffnen	
  des	
  Volkes	
  die	
  Bienen	
  ein?	
  
	
  
	
  
Wie	
  entsteht	
  aus	
  einer	
  Larve	
  eine	
  Königin	
  (im	
  Gegensatz	
  zu	
  einer	
  Arbeiterin)?	
  


